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Question One

1 1
(a) Find the exact value of 642 x 64 3

(b) The point (k, 3) lies on the line x +5y =10. Find the value of k.

(c) Graph the solution to 5-2x <8 on a numbcr linc.

d)  Simplify (2a-1)°-5(1-a) .

correct to 3 significant figures.

4
(e) Find the value of \5

1
f Rationalise the denominator of —F=—
© 1+41+a

(g)  Find x in the following

@) (i)

3

(h)  Shade in the region represented by the following inequality.

{(x,y) c ysx+ly=2x }




Question two

(a) In the accompanying figure.

-]

AB//DK and < ABD =90’
AE and BD intersect at C

EC=EK and £DEC = 50°
Find the size of ZKCD (give reasons)

(b) Find the value of x if

Vx =50 -+18

() Factorise.

(i) Ax* +x -3

(i) 1+sin* @

(iii) xy-8x+y-8
(d)  Simplify

x 3x-1
-+
4 3

(e) Solve the equations
1
i 8" =—
® 16
() [|2-3n|=14
3x-2y=T7

3] Solve simlultaneously:
xy=3




Question Three

a+b

(a) Ifa:b=3:1,find

a—.

(b)

18ocm

|50

Mr]OIleS insisted on having his bed raised at an angle of elevation of 15%in order to
read in bed. If the slanted length was 180cm, find the height above the floor, correct
to the nearest centimetre.

(c) Find the gradient of the line that passes through (-3,2) and (5,8)
Hence, find the angle the line makes with the positive x-axis.

(d) Solve the equations

3a+4b=-5
-9 +8 +25=0

) 5 . ) .
(e) If sinx = E , and x is obtuse, find the value of sec x in exact form.

) In the diagram, SQ L PQ and
RU 1 SQ and PS is parallel to OR

P N

@) Copy the diagram
(i1) Prove A RQU is similarto A PQOS

(i) If RU =x units

OR =y units
and PS is four times the length of RU,
find the length of PQ in terms of x and y.




Question Four

(a) State the function rule for the following curves

(i) Ty (i) 0 y
OO 1 2 Crreetp
2
o—1—®
\ + >
-2 e = e ~2 =t Jo x
(b) Sketch the function
0 £ x,if -lsx=s1
i x) =
Lif x>1
(>i1) State the domain and the range
. 1
(i) find 2f (5) - fO+f(2)
(©) Starting from a point A boat sails due west for 6 km to a point B, then turns to

the bearing of 200° T and sails for 12km to C. Find the distance AC.

(d) The graph of a function is shown below for x = 0. Copy the graph and
complete \¥* for x<0 if 1t ig 3

) even rY
(i)  odd : (2’4)
(4,0) IR
o 9
(5,-3)

(e) Find the equation of the line that makes an angle of 45 ® with the positive
x —axis and also passes through the intersection of 3x +2y ~5=0 and

x+y+2=0




Question Five

(a)

(b)

(©)

(d)

e
(o)
(®

5 Exploinod i o boundapet i

(i)  JHemeesketch the region y > 1
X

:3———80‘——-—’!'

K C

)] Show that AC = 18 cos 40°

(ii)  find an expression for AB

(iii)  Find angle « to the nearest minute.

Show that
y 2

x*+y?

X sin® @ =

Find the exact value of
3tan210° sec 210° - Sin330° cot 135°

Find the perpendicular distance between (-2,1) angl the line 12x -5y +3=0
Draw separate sketches of the following curves showing their main features.
@ y=-V4-x’

@) y=3"

i) y=fe-1
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